Reference

Hexadecimal Powers of Two Arithmetic
Hex | Binary | Decimal Power Hex | Decimal
0x0 | 0000 0 20 0x0001 1 20 x 20 = ga+b
0x1 0001 1 21 0x0002 2 20 25 — 2a+b
0x2 | 0010 2 22 0x0004 4 g0+ o _ gub
0x3 0011 3 23 0x0008 8 ) o
Ox4 | 0100 4 91 0x0010 16 2t ) 2" =207
0xb 0101 5 2° 0x0020 32
0x6 0110 6 20 0x0040 64
0x7 0111 7 27 0x0080 128
0x8 1000 8 28 0x0100 256
0x9 1001 9 29 0x0200 512
Oxa 1010 10 210 0x0400 1024
0xb 1011 11 211 0x0800 2048
Oxc 1100 12 212 0x1000 4096
Oxd 1101 13 213 0x2000 8192
Oxe 1110 14 214 0x4000 16384
Oxf 1111 15 219 0x8000 32768
216 0x10000 65536
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Assembly Syntax

Meaning

Opcode |Rs Rt Rd

ADD Rs, Rt, Rd

R[d] € R[s] + R[t]

0010 S t

d
SUB Rs, Rt, Rd Rld] € R[s]-R[t] 0011 s t d
AND Rs, Rt, Rd Rld] € R[s] &R][t] 0100 s t d
ORRs, Rt, Rd Rld] € R[s] | R[t] 0101 s t d
JMP offset
LW Rt, offset(Rs) |R[t] € MI[R[s] + offset] 0000 s t offset | unsigned.
All other offset
SW Rt, offset(Rs) |M[R[s] + offset] € R[t] 0001 s t offset areosig:res_ Sets
If R[s] == R[t] then
BEQ Rs, Rt, t 0111 t t
QRs offse PC < PC+2 +offset*2 s offse
JMP offset PC & offset*2 1000 offset
HALT Stops program execution 1111
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